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26/01/2016

Base: 1,053 Total Gender Age Gender X Age (3 Bands)
Male Female 16-34 35-54 55+ Male x 18- i Male x 35- {Male x 55+ Female x | Female x i Female x
34 54 18-34 35-54 55+
Q21. Would you like Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
nuclear to be used (1053) (477) (576) (233) (445) (375) (68) (213) (196), (165), (232) (179),
more than it is Should be used more 232 165 67 70 65 97 53 46 66 17 20
currently, about the 22% 33% 12% 22% 18% 25% 34% 26% 38% 11% 11%
same as currently, Should be used about the same as now 245 108 138 60 84 102 28 40 39 32 43
less than currently, or 23% 21% 25% 19% 24% 27% 18% 23% 22% 20% 24%
not used at all? Should be used less 183 80 104 74 55 54 33 27 20 41 29
17% 16% 19% 24% 16% 14% 21% 16% 11% 26% 16%
Should not be used at all 243 107 136 57 94 92 25 42 41 32 53
23% 21% 25% 18% 27% 24% 16% 24% 23% 20% 29%
Don't know 149 46 103 53 57 39 17 19 11 37 38
14% 9% 19% 17% 16% 10% 11% 11% 6% 23% 21%
Q21. Would you like Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
wind to be used more (1053) (477) (576) (233) (445) (375) (68) (213) (196), (165), (232) (179)
than it is currently, Should be used more 596 304 292 199 219 177 111 112 80 88 107 97
about the same as 57% 60% 53% 63% 62% 46% 71% 65% 46% 56% 59% 47%
currently, less than  [Should be used about the same as now 201 98 103 55 61 86 24 28 46 31 33 40
currently, or not used 19% 19% 19% 17% 17% 22% 15% 16% 26% 19% 18% 19%
atall? Should be used less 101 51 50 16 27 58 8 11 32 8 16 26
10% 10% 9% 5% 8% 15% 5% 6% 18% 5% 9% 12%
Should not be used at all 50! 18 32 5 10 35 1 7 10 4 3 26
5% 4% 6% 2% 3% 9% <1% 4% 5% 2% 1% 12%
Don't know 105, 35 70 39 38 28 12 14 8 27 24 19
10% 7% 13% 13% 11% 7% 8% 8% 5% 17% 13% 9%
Q21. Would you like |Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
wave/tide/hydro to be (1053) (477) (576) (233) (445) (375) (68) (213) (196), (165), (232) (179),
used more than itis |Should be used more 765 399 366 213 268 284 123 136 139 90 132 144
currently, about the 73% 79% 67% 68% 5% 74% 79% 79% 79% 57% 72% 70%
same as currently, Should be used about the same as now 112 47 64 36 34 43 14 14 19 21 19 24
less than currently, or 11% 9% 2% 11% 9% 11% 9% 8% 11% 13% 10% 12%
not used at all? Should be used less 30 10 19 9 14 7 3 6 2 6 8 5
3% 2% 4% 3% 4% 2% 2% 3% 1% 4% 5% 2%
Should not be used at all 15 6 9 6 2 7 0 2 5 6 1 3
1% 1% 2% 2% <1% 2% 0 1% 3% 4% <1% 1%
Don't know 131 43 89 51 37 43 16 15 12 34 23 32
12% 8% 16% 16% 11% 11% 10% 9% 7% 22% 12% 15%
Q21. Would you like |Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182
fossil fuels (burning (1053) (477) (576) (233) (445) (375) (68) (213) (196), (165), (232)
coal/natural gas) to be[Should be used more 88 41 47 15 26 47 8 14 20 7 12
used more than it is 8% 8% 9% 5% 7% 12% 5% 8% 1% 5% 7%
currently, about the  [Should be used about the same as now 279 116 164 63 95 121 28 40 48 35 55
same as currently, 27% 23% 30% 20% 27% 32% 18% 23% 27% 22% 30%
less than currently, or [Shouid be used less 431 240 191 156 145 130 89 79 72 67 66
not used at all? 41% 47% 35% 50% 41% 34% 57% 45% 41% 42% 36%
Should not be used at all 117, 58 59 35 45 37 17 23 18 18 21
11% 12% 11% 11% 13% 10% 11% 14% 10% 11% 12%
Don't know 138, 50 88! 45 45 48 14 18 18 31 27
13% 10% 16% 14% 13% 12% 9% 10% 10% 20% 15%




26/01/2016

Base: 1,053 Total Did you vote in the May 2015 UK Parliamentary Election which led to a Conservative overall majority government? If so, who did you | How did you vote in response to
vote for? the question: Should Scotland be
an independent country?
Conservatii Labour Liberal SNP UKIP Green Plaid Other Did not Can't I was not |I voted Yes: I voted No: Idid not
ve Democrat Party Cymru vote remember : eligible to vote
unte
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 (1] 8 70 26 10 452 560 41
nuclear to be used (1053) (189) (234) (58) (417) (16) (26) (0) (7) (64) (30) (12) (416) (596) (41)
more than it is Should be used more 232 55 62 23 70 8] 1 0 0 16, 0 1 67 156 9
currently, about the 22% 39% 27% 32% 15% 30% 4% 0 0 22% 1% 15% 15% 28% 22%
same as currently, Should be used about the same as now 245 41 54 23 97 1 5 0 0 18 2 4 83 158 5
less than currently, or 23% 29% 24% 33% 20% 15% 34% 0 0 25% 7%, 44% 18% 28% 12%
not used at all? Should be used less 183 21 41 15 82 2 2 0 2 10 7 1 81 95 8
17% 15% 18% 21% 17% 17% 13% 1] 24% 15% 28% 12% 18% 17% 19%
Should not be used at all 243 12 36 4 162 4 6 0 3 12 4 2 158 72 13
23% 8% 16% 6% 34% 38% 41% o 37% 17% 14% 18% 35% 13% 31%
Don’t know 149 11 37 6 62 0 1 0 3 14 13 1 63 80 7
14% 8% 16% 9% 13% o 7% o 39% 21% 50% 11% 14% 14% 16%
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 (1] 8 70 26 10 452 560 41
wind to be used more (1053) (189) (234) (58) (417) (16) (26) (0) (7) (64) (30) (12) (416) (596) (41)
than it is currently, Should be used more 596 52 122 38 318 2 6 0 2 41 10 5| 306 267 22
about the same as 57% 37% 53% 54% 67% 20% 43% 1] 20% 58% 37% 55% 68% 48% 55%
currently, less than  [Should be used about the same as now 201 33 48 16 71 2 5 0 4 14 7 2 68 123 10
currently, or not used 19% 23% 21% 23% 15% 26% 35% o 47% 20% 27% 16% 15% 22%

atall? Shouid be used less 101 27 21 9 36 3 0 0 i 2 1 1 32 68 1
10% 19% 9% 12% 8% 28% 3%, 1] 10% 3% 3% 13% 7% 12% 2%
Should not be used at all 50 19 7 5 15 1 1 0 0 0 2 0 13 37 0
5% 13% 3% 7% 3% 13% 9% o o [} 7% [} 3% 7% o
Don’t know 105 11 32 2 34 1 1 0 2 13 7 1 33 65 7
10% 8% 14% 3% 7% 13% 10% 1] 23% 19% 25% 15% 7% 12% 18%
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 o 8 70 26 10 452 560 41
wave/tide/hydro to be (1053) (189) (234) (58) (417) (16) (26) (0) (7) (64) (30) (12) (416) (596) (41)
used more than itis |Should be used more 765 93 154 67 363 5 10 0 3 47 14 6 350 389 26
currently, about the 73% 66% 67% 95% 77% 51% 76% 1] 61% 67% 55% 60% 7% 70% 3%
same as currently, Should be used about the same as now 112 20 28 3 42 3 2 0 0 11 2 1 44 63 5
less than currently, or 11% 14% 12% 4% 9% 26% 12% o o 16% 7% 13% 0% 1% 2%
not used at all? Shouid be used less 30 4 6 1 17 0 0 0 0 0 2 0 4 16 0
3% 3% 3%, 2% 4% 4% 1] 1] 1] (1] 7% (1] 3% 3% (1]
Should not be used at all 15 5 5 0 2 0 1 0 1 1 0 0 3 13 0
1% 4% 2% o <1% 4% 7% o 16% 1% o o <1% 2% o
Don’t know 131 18 37 0 50 2 1 0 2 11 8 3 42 79 10
12% 13% 16% o 11% 16% 4% o 23% 16% 31% 27% 9% 14% 26%
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 o 8 70 26 10 452 560 41
fossil fuels (burning (1053) (189) (234) (58) (417) (16) (26) (0) (7) (64) (30) (12) (416) (596) (41)
coal/natural gas) to be[Should be used more 88 10 15 4 50 2 2 0 0 4 0 0 47 42 0
used more than it is 8% 7% 6% 6% 11% 21% 12% o o 5% 2% 5% 10% 7% [}
currently, about the  [Should be used about the same as now 279 50 67 17 115 3 2 0 1 12 10 3 99 172 9
same as currently, 27% 35% 29% 24% 24% 28% 16% o 10% 17% 38% 29% 229% 31% 21%
less than currently, or [Shouid be used less 431 59 97 37 187 2 5 0 1 32 6 5 187 227 17
not used at all? 41% 42% 42% 52% 39% 25% 38% 0 14% 45% 22% 47% 41% 40% 42%
Should not be used at all 117 10 17 6 70 0 4 0 0 7 1 1 65 45 8
11% 7% 7% 9% 15% [} 29% o o 11% 5% 8% 14% 8% 19%
Don’t know 138 13 e 6 52 3 1 0 6 16 9 1 55 75 7
13% 9% 15% 8% 11% 26% 4% o 76% 22% 33% 11% 12% 13% 18%




26/01/2016

Base: 1,053 Total Did you vote in the May 2011 Scottish Parliamentary Election which led to an SNP overall majority
government? If so, who did you vote for with your constituency vote?
Conservatii Labour Liberal SNP Greens Other Did not Can't I was not
ve Democrat vote remember : eligible to
unta
Q21. Would you like Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
nuclear to be used (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
more than it is Should be used more 232 51 63 15 69 4 4 14 5
currently, about the 22% 45% 27% 21% 19% 23% 23% 10% 7%
same as currently, Should be used about the same as now 245 40 52 29 69 2 1 32 17
less than currently, or 23% 35% 22% 41% 19% 11% 4% 24% 21%
not used at all? Shouild be used less 183 9 44 17 63 1 3 26 14
17% 8% 19% 24% 18% 8% 16% 19% 18%
Should not be used at all 243 7 40 7 122 8 5 35 14
23% 6% 17% 11% 34% 45% 29% 26% 17%
Don't know 149 6 35 2 37 2 5 30 30
14% 6% 15% 3% 10% 12% 28% 22% 37% 10%
Q21. Would you like Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
wind to be used more (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
than it is currently, Should be used more 596 44 117 37 243 8 8 78 44 18
about the same as 57% 38% 50% 52% 68% 45% 45% 57% 55% 71%
currently, less than  [Should be used about the same as now 201 34 44 18 63 3 2 24 8 4
currently, or not used 19% 30% 19% 25% 18% 20% 13% 18% 10% 17%
atall? Shouild be used less 101 23 30 7 20 5 1 9 7 1
10% 20% 13% 9% 5% 6% 8% 6% 8% 3%
Should not be used at all 50 9 8 9 13 0 3 3 5 0
5% 8% 3% 13% 4% 0 17% 2% 6% o
Don't know 105 4 E5 0 20 2 3 23 16 2
10% 4% 5% ] 5% 9% 17% 17% 21% 9%
Q21. Would you like |Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
wave/tide/hydro to be (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
used more than itis  [Should be used more 765 79 159 61 282 11 13 93 50 18
currently, about the 73% 70% 68% 6%, 79%. 63% 5% 68% 62% 69%
same as currently, Should be used about the same as now 112 20 25 4 35 2 2 16 3 4
less than currently, or 11% 8% 11% 6% 10% 14% 1% 12% 4% 15%
not used at all? Shouild be used less 30 4 7 5 11 0 0 2 0 0
3% 3% 3% 6% 3% ] 2% 2% <1% 0
Should not be used at all 15 1 8 0 3 0 0 1 2 0
1% 1% 3% ] <1% 0 3% <1% 3% o
Don't know 131 9 35 1 29 4 2 24 25 4
12% 8% 15% 1% 8% 23% 9% 17% 31% 16%
Q21. Would you like |Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
fossil fuels (burning (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
coal/natural gas) to be|Should be used more 88! 14 19 7 39 1 0 7 1 0
used more than it is 8% 2% 8% 0% 1% 3% 2% 5% 1% 0
currently, about the  fShould be used about the same as now 279 40 68 25 96 3 6 21 18 3
same as currently, 27% 35% 29% 36% 27% 16% 36% 15% 22% 12%
less than currently, or [Shouid be used iess 431 47 91 31 139 8 5 59 32 18
not used at all? 41% 41% 39% 44% 39% 49% 30% 43% 40% 68%
Should not be used at all 117 4 22 5 47 5 3 21 8 3
11% 3% 9% 7% 13% 27% 15% 15% 10% 13%
Don't know 138 9 33 2 38 1 3 29 21 2
13% 8% 14% 3% 11% 5% 17% 21% 27% 6%




26/01/2016

Base: 1,053 Total Gender Age Gender X Age (3 Bands)
Male Female 16-34 35-54 55+ Male x 18- i Male x 35- {Male x 55+ Female x | Female x i Female x
34 54 18-34 35-54 55+

Q21. Would you like Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
Q21. Would you like Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
offshore fracking (1053) (477) (576) (233) (445) (375) (68) (213) (196) (165) (232) (179)
(extracting gas from |Should be used more 227 152 75 55 66 106 41 44 67 14 22 38
under the sea) to be 22% 30% 14% 18% 19% 28% 26% 25% 38% 9% 12% 19%
used more than itis |Should be used about the same as now 179! 73 106 65 54 60 29 20 25 37 34 35
currently, about the 17% 14% 19% 21% 5% 16% 18% 11% 14% 23% 19% 17%
same as currently, Should be used less 135 63 72 44 54 38 18 27 18 25 27 20
less than currently, or 13% 12% 13% 14% 15% 10% 12% 16% 10% 16% 15% 10%
not used at all? Should ot be used at all 302 147 155 76 112 114 40 58 49 37 54 65
29% 29% 28% 24% 32% 30% 25% 34% 28% 23% 30% 31%
Don't know 210 71 139 74 70 66 29 24 18 45 45 48
20% 14% 25% 24% 20% 17% 18% 14% 10% 29% 25% 23%
Q21. Would you like |Base: Scotland Only 1053 505 548 314 355 383 156 173 176 158 182 207
onshore fracking (1053) (477) (576) (233) (445) (375) (68) (213) (196) (165) (232) (179)
(extracting gas from  |Should be used more 154 106 48 26 47 81 19 B 54 6 14 27
under land) to be 15% 21% 9% 8% 13% 21% 12% 19% 31% 4% 8% 13%
used more thanitis  [Should be used about the same as now 154 63 91 52 47 55 20 20 24 31 28 32
currently, about the 15% 13% 17% 16% 13% 14% 13% 11% 13% 20% 15% 15%
same as currently, Should be used less 112 59 53! 38 35 39 21 18 21 17 17 18
less than currently, or 11% 129% 10% 129% 10% 10% 13% 10% 129% 11% 10% 9%
not used at all? Should ot be used at all 420 200 220 114 160 146 62 80 58 52 81 88
40% 40% 40% 36% 45% 38% 39% 46% 33% 33% 44% 42%
Don't know 214 78 136 85 65 63 34 23 20 51 42 43
20% 15% 25% 27% 18% 16% 22% 13% 11% 32% 23% 21%




26/01/2016

Base: 1,053 Total Did you vote in the May 2015 UK Parliamentary Election which led to a Conservative overall majority government? If so, who did you | How did you vote in response to
vote for? the question: Should Scotland be
an independent country?
Conservatii Labour Liberal SNP UKIP Green Plaid Other Did not Can't I was not |I voted Yes: I voted No: Idid not
ve Democrat Party Cymru vote remember : eligible to vote
unte

Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 (1] 8 70 26 10 452 560 41
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 (1] 8 70 26 10 452 560 41
offshore fracking (1053) (189) (234) (58) (417) (16) (26) (0) (7), (64), (30) (12) (416) (596) (41)
(extracting gas from  [Should be used more 227 47 55 23 76 2 2 0 0 17 1 2 73 146 8
under the sea) to be 22% 33% 24% 33% 16% 24% 15% 0 0 25% 4% 25% 16% 26% 19%
used more than itis  Should be used about the same as now 179 28 45 10 73 0 1 0 0 16 5 1 79 94 6
currently, about the 17% 20% 19% 15% 15% 5% 5% o 5% 23% 19% 8% 18% 17% 15%
same as currently, Should be used less 135 18 28 11 64 1 1 0 0 12 2 0 60 66 10
less than currently, or 13% 13% 12% 16% 13% 8% 5% 0 0 17% 7% 0 13% 12% 24%
not used at all? Shouid not be used at all 302 20 51 12 184 4 8 0 6 10 5 4 171 125 6
29% 14% 22% 16% 39% 42% 59% o 72% 14% 18% 37% 38% 22% 15%
Don’t know 210 29 51 15 77 2 2 0 2 i3 14 3 69 130 11
20% 20% 22% 21% 16% 20% 16% o 23% 21% 53% 31% 15% 23% 26%
Q21. Would you like Base: Scotland Only 1053 141 230 71 474 10 14 o 8 70 26 10 452 560 41
onshore fracking (1053) (189) (234) (58) (417) (16) (26) (0) (7) (64) (30) (12) (416) (596) (41)
(extracting gas from |Should be used more 154 39 30 13 53 1 2 0 0 12 1 2 52 96 6
under land) to be 15% 27% 13% 19% 11% 13% 12% ] 0 17% 4% 25% 11% 17% 14%
used more than itis  [Should be used about the same as now 154 28 48 6 55 1 1 0 0 13 2 0 63 86 5
currently, about the 15% 20% 21% 8% 12% 9% 6% o 5% 19% 8% [} 14% 15% 11%
same as currently, Should be used less 112 18 27 6 43 1 1 0 0 12 3 0 40 65 6
less than currently, or 11% 13% 12% 9% 9% 7% 7% 0 0 17% 11% 0 9% 12% 14%
not used at all? Shouid not be used at all 420 26 77 20 254 5 9 0 4 14 6 4 236 174 11
40% 19% 33% 28% 54% 51% 67% o 56% 20% 25% 45% 52% 31% 26%
Don’t know 214 30 48 25 69 2 1 0 E] 19 14 3 61 139 14
20% 21% 21% 36% 15% 20% 7% 1] 39% 27% 53% 31% 14% 25% 34%




26/01/2016

Base: 1,053 Total Did you vote in the May 2011 Scottish Parliamentary Election which led to an SNP overall majority
government? If so, who did you vote for with your constituency vote?
Conservatii Labour Liberal SNP Greens Other Did not Can't I was not
ve Democrat vote remember : eligible to
unta

Q21. Would you like Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
Q21. Would you like Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
offshore fracking (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
(extracting gas from |Should be used more 227 50 50 18 62 2 1 27 13 2
under the sea) to be 22% 44% 21% 26% 17% 14% 8% 20% 17% 8%
used more than itis  [Should be used about the same as now 179 24 37 13 57 1 3 24 12 8
currently, about the 17% 21% 16% 18% 16% 7% 17% 17% 15% 32%
same as currently, Should be used less 135 11 29 9 48 6 0 19 5
less than currently, or 13% 9% 13% 13% 13% 33% [ 14% 10% 21%
not used at all? Shouid not be used at ali 302 13 60 17 142 8 8 34 15 5
29% 12% 26% 24% 40% 44% 48% 25% 19% 20%
Don’t know 210 15 57 14 50 0 5 33 31 5
20% 13% 24% 20% 14% 2% 27% 24% 39% 18%
Q21. Would you like |Base: Scotland Only 1053 114 233 70 359 17 17 137 80 26
onshore fracking (1053) (149) (214) (72) (331) (23) (16) (132) (86) (30)
(extracting gas from  [Should be used more 154 B 31 9 48 0 1 16 10 2
under land) to be 15% 32% 13% 13% 13% [1} 8% 12% 13% 6%
used more than itis  [Should be used about the same as now 154 23 46 12 42 0 0 21 7 3
currently, about the 15% 20% 20% 17% 12% 0 3% 15% 8% 13%
same as currently, Should be used less 112 12 22 12 B/ 4 2 13 7 3
less than currently, or 11% 11% 9% 17% 10% 23% 12% 9% 9% 12%
not used at all? Shouid not be used at ali 420 20 82 25 185 13 7 47 35 6
40% 18% 35% 36% 51% 75% 39% 34% 44% 24%
Don't know 214 22 52 12 48 0 6 41 20 12
20% 19% 22% 17% 13% 2% 38% 30% 26% 45%




